T4 ESVAYLIN £

F it 1 18 80. 4MHz
F M #H * 80. OMHz
F M = F 76. 1MHz
F M fil = 77. IMHz
E M K H 82. SMHz
F M L i 80. 4MHz
BN L ES F M 81. 8MHz
T K Y O F M 80. OMHz
F M i R 76. 4MHz
F M r S 77. 5MHz
F M s iy 79. TMHz
K M I X 79. 2MHz
F & 0 * 82. TMHz
F M i JI| 80. 5MHz
F M = H: 76. IMHz
53 B F M 80. OMHz
F A I C H I 80. 7TMHz
F M = H 78. 9MHz
F M A3 = 77. OMHz
F M K P 85. 1MHz

Kiss FM KOBE 89. 9MHz
F M 7] il 76. 8MHz
F M i X 77. AMHz
Jis = F M 78. 2MHz
F M 1L | 79. 2MHz
F M e JI| 78. 6MHz
F M = I 79. TMHz
F M & = 80. TMHz
F M = N 81. 6MHz
F M & [i] 80. 7MHz
F M e B 77. 9MHz
F M s e 79. 5MHz
F M RE N 77. 4MHz
F M AN 53 88. OMHz
F M (=4 iy 83. 2MHz
F JE U5 =3 79. 8MHz
F M h i 87. 3MHz




